= =T
LAV ABUH(2HUBB/BY)
BENLAY FA (crel @
2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
220t 37,550,600 52,188,532 A 14,637,932
s 7,375,000
J| 7,374,000
= 22,801,600
Y dUS (222 / 2 37,517,168 52,155,100 A 14,637,932
s 7,375,000
J| 7,374,000
& 22,768,168
2L AME FA 16,150,743 33,283,700 A 17,132,957
s 3,125,000
= 13,025,743
FHEAE NEHOSH 1,592,500 1,917,500 A 325,000
s 1,225,000
= 367,500
403 XIS E X201 H 1,592,500 1,917,500 A 325,000
Eas 1,225,000
= 367,500
01 XX A2E = 1,592,500 1,917,500 A 325,000
gd Jt2AE X 1,592,500
s 1,225,000
= 367,500
2ot ot=2 0t &4 2,470,000 2,340,000 130,000
s 1,900,000
< 570,000
403 AXIEHHS 201 & 2,470,000 2,340,000 130,000
s 1,900,000
& 570,000
01 HXEMAEE X 2,470,000 2,340,000 130,000
oOFH HE Gt 2,470,000
s 1,900,000
= 570,000
P2 TR g (s 3,085,350 12,095,700 A 9,010,350
403 RtXIEH X S A2 0l 3,085,350 12,095,700 A 9,010,350
01 XX =2 = 3,085,350 12,095,700 29,010,350
OFd 2 ES 780,000
OFd 2 == 200,000
O@= stXdotu=2 1,702,350
oOsol =2 o 260,000
OF& A014HHI 143,000
ME =M 22 THE OH e ( 9,002,893 6,758,500 2,244,393
403 RtXI & X S A= 0l 9,002,893 6,758,500 2,244,393
01 tXESHA2E = 9,002,893 6,758,500 2,244,393
O =3 22 1,300,000
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A

]

=S
HE: YAV ABYSHSHUDZ/BT)
ool RRHLAMY =X (e @
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2
O=d & (Hop)0l 2= 5 (Hope) Z el Al (A
&) 100,000
OBE BENIUC Z& (M) 2,801,500
OBH Mi%E, 5~ H-Y(HEH) 100,000
OB SUMEHS NEBE T4 (M) 650,000
OUN A25 HEMEHEHY Z& (M) 2,751,393
ODNH S BESLHEMEHTATL (M) 1,300,000
SysE 2RI MY 20,862,000 18,382,000 2,480,000
2 4,250,000
p] 7,374,000
= 9,238,000
HotE THAAY(2D) 4,225,000 2,535,000 1,690,000
2 3,250,000
= 975,000
403 XX GRS X201 & 4,225,000 2,535,000 1,690,000
2 3,250,000
= 975,000
01 XHXISHAI K 2 2 = 4,225,000 2,535,000 1,690,000
OHAE THA AL 4,225,000
2 3,250,000
= 975,000
MEHEIOF 2R X EH(ZA)(2D) 80,000 0 80,000
bl 80,000
308 XX £HH S 0/ 80,000 0 80,000
bl 80,000
IR EEEREES 80,000 0 80,000
OND BHGE 50 80,000
p] 80,000
MEREION 2T X SHXE) (2 D) 34,000 0 34,000
ol 34,000
403 XX A S K20l ® 34,000 0 34,000
I 34,000
B ETES 34,000 0 34,000
O BHEE S0 34,000
p] 34,000
BIHFZA S5 (FY)(2D) 4,225,000 5,850,000 1,625,000
p] 3,250,000
= 975,000
308 XX S S0l 4,225,000 5,850,000 1,625,000
p] 3,250,000
= 975,000
B EYEREES 4,225,000 5,850,000 1,625,000
ONABZNEZA S4 4,225,000
ol 3,250,000
= 975,000

-415 -




AN ZHZOHE
HE: AAVY YA (SHADY /)
cel: SM3EE 2T Y (crel @
5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
2ZHE A 4 (H2)(=1) 2,600,000 2,600,000 0
J| 2,000,000
= 600,000
403 AXIEHHS X201 & 2,600,000 2,600,000 0
J| 2,000,000
& 600,000
01 AXIEMAEEEX 2,600,000 2,600,000 0
OXNG2BHEZA 4 2,600,000
J| 2,000,000
= 600,000
HEZI2E XI22ML('208 F4 otclzots = 1,072,500 208,000 864,500
&)(24)(22)
J| 825,000
= 247,500
308 AHXIEHHI SOl H 1,072,500 208,000 864,500
J| 825,000
= 247,500
01 HXHHILEXS 1,072,500 208,000 864,500
©'208 H4 otclgols =4 1,072,500
J| 825,000
< 247,500
HEZI2E X220 (208 F4 otclzots = 1,072,500 260,000 812,500
H)(X2)(=21)
J| 825,000
= 247,500
403 AXIEHHS =0l A 1,072,500 260,000 812,500
J| 825,000
= 247,500
01 AHXIEMAE2EX 1,072,500 260,000 812,500
©'208 H4& otelgols =4 1,072,500
J| 825,000
= 247,500
HEZI2E X222 (218 4EA0EDD 178 208,000 0 208,000
za)(Z4)(2D)
J| 160,000
& 48,000
308 UXIEHSOIA 208,000 0 208,000
J| 160,000
= 48,000
01 IXSHBHEXS 208,000 0 208,000
O'21d A FEAOIEI3 17824 208,000
J| 160,000
= 48,000
HEIZ2E XAz (218 4EA0ED 178 260,000 0 260,000
) (dE)(=1)
J| 200,000
= 60,000

- 416 -




SN 2L D
HE: YAV AT (2IHUYB/2Y)
©9l: SHStE BNV N (et9l: @2
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
403 XtXI X S K20l & 260,000 0 260,000
b 200,000
= 60,000
01 HXISH K== 260,000 0 260,000
©'218 A0S 17874 260,000
p] 200,000
< 60,000
2OI0IIHE R T (HEBAY) 1,300,000 650,000 650,000
403 XX A S K20l & 1,300,000 650,000 650,000
01 HXISA K== 1,300,000 650,000 650,000
ONSH QEARYY X4 (ME) 1,300,000
SUE GHHMH PE(HESBAY) 4,485,000 2,975,000 1,510,000
403 XX S S K20l H 4,485,000 2,975,000 1,510,000
01 HXISHA K= = 4,485,000 2,975,000 1,510,000
OE® SYLDA MHSLZ X4(H) 1,430,000
OBE LOXOMAU ZH (M) 1,105,000
OBE LUSS LOIR0AD T4 (HE) 1,950,000
e PHEEY AN AL (2D) 1,300,000 0 1,300,000
7 1,000,000
= 300,000
403 XtXI SHH S K201 H 1,300,000 0 1,300,000
7 1,000,000
< 300,000
01 HXICHAI K =8 = 1,300,000 0 1,300,000
OBSH SSETS 01N BAAY 1,300,000
7 1,000,000
= 300,000
ZEA "H L e 372,800 433,900 A61,100
2BRAL ol L el 312,800 246,600 66,200
201 2Bt 2yl 4,800 3,600 1,200
01 At 22l 4,800 3,600 1,200
OBBMLAY =& 4,800
202 01t 6,000 8,000 A2,000
01 2LHoi bl 6,000 8,000 A2,000
ORBMLAY =T 6,000
307 ©I2H0I & 130,000 130,000 0
05 2129t 2 130,000 130,000 0
OFd MH)EZ Dol 130,000
308 XX SHSOIA 150,000 105,000 45,000
01 HXCSHBABES 150,000 105,000 45,000
OLAT B2 el 29 150,000
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